EARAROBREBRT —5 XN—ZXBISH—F

2023578308 (B) 205528

Bl o>x25 w5 (Ro) & 58 [ w |peemm - | 2w &
[xE<] 1% :7,200,000 F  23%:2,900,000 3  33%:1,800,000F ., 43 :1,100,000 M 53 :720,000 {
B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
=\ st 2 | AMEIGth 1:23.2 2-2 35.2077.1 | 7 | 456 |HBOEZ R
1179/ 07/—=0FY—0O 55.0 =) (o) | TESBZR—LT (VTR ()
R:Nathaniel B:SAKI7VIRTAVT Eaprates)
_ s 2 | ERE 1:23.3 3-3 35.2| 76.1| 5 13) |ERER ER)
] 2 H—ER 5.0 (172) (=) '_EE) #HBELV—ZR—2X
RiW—>—ywF B:OVFvHho—L HBEIT7—L4A
» < IRAHE : - AR (FR
3lgln RLTrv2OT7 4 2 43 1(.12/32.)4 1-1 35.5| 745 | 2 (412) géﬂ*ﬂi( )
RiRLT#Y B:oVIVRY2 RIS
3y ~ o2 | IENES 1:23.4 11-10 | 34.2| 75.6 | 3 | 472 |&EEH ERH)
41710/ OJVUFY 55.0 N\F) (=) |AKEER
RiUAYF4—R B:E—E—N—LIL IRERIS
< KEFIREL : - EEET ()
5 g | FavI hvt 2 xH 1(72?:;1 8-7 34.5] 75.4 | 10 (458) ol
REYvI7—H— B:FaoIALHY— BRI 7—L
=F 8 2 | i 1:23.7 5-5 35.3172.0 | 1 406 | EEE2FEL )
g7 v/ /=vF 7054.0 (1172 o) |EBE=
RiZTwvF—Orv b B:7ZI—hKRD3IY e
=02 it 2 | PlEEX 1:23.7 10-11 [ 34.7] 723 | 8 466 | REER (SH)
7111 ARERZA XY * 55-3 (IN\F) (=) T(ﬁ) EvI Ly RT7—L
R:EvI7—H— 8B:7—AYVRIL RS
SR = 2 | EIEAR 1:23.7 3-3 35.5|71.8 | 1 482 | ZBEEN (FER)
88|11 7Y Fv—3 i 55.0 (FI) (=) m%%
RiRSAYF 7YYV RRI—=L ppate]
SO, S 2 | SEHSEE 1:23.9 8-7 35.0] 70.1 | 6 394 | EREEE GEH)
956 v3a—-uvF¥a135 5.0 A 1/8) (=) | Al
R:TSvIIAR B:T7ILRLT #HE77—LA
i 4 2 | HIEER% 1:24.3 7-5 35.7 | 65.9 | 4 508 | EOWRE (GRR)
10/5|5 | ZYRT7—H *51.0 2172 (-) | AP
RiEwIF—Y— B:F—hIUR BE B
~ I\ S bt 2 | XEERRBH 1:24.7 5-7 36.3| 61.1 | 9 394 | B GRR)
1NN 4| AVNNE—23F)b i a5 2172 (—) | @ FSTLYRIST - 5T47
RiFA TRV v— B:N\—2Vbsv—X EvIUy RI7—LA
3= t 2 | ERE— 1:26.9 12-12 | 37.4| 41.2 | 12 | 428 |ERERE—ER (55H)
] 3 Elbn ! 5.0 (541) o |BAES
R:7RIAV L= BR—U—Y— B 8
[ BN
En'y 47.3-35.3
NOYgA L | 12.8-11.3-11.8-12.0-11.8-11.6-11.9
@ 11— —B&IEfI
13—+ —
20—F—
30—7— (x12,9) (2,11) (4,7)5(8,6)1,10-3
43—F— (12,9) (2,11) (7,5) (4,8,6)10,1-3
0 ILRE
BB 9 2,730 JA R 2-9 2,010 e B 2-7 1,520 3EE 2-9-12 7,060
B B 9 530M4 9-12 1,220/ 5 & 2-9 6,490 3EH G=n=(2 82,760H
2 220/ 2-12 5004 58 9-2 16,160
12 2004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




